= 2MY AR ST iatelel | AZH | ZRH

o3| AFRR |2019-06-01 |2 P57 ZAK} ZHEHS| 7% 29,000[ Ft=
o5l AbR= [2019-06-01 | L& BAH K} 2+Ets| oy 152,000 7=
o5l AL = [2019-06-02| P& BAH K 2+t 79 83,000 7=
o3| ALR= |2019-06-03| X} 310kl 2 ahed 7hets| 29 20,000 7=
o3| AL2= |2019-06-03| 23/ ALR=2 &2l 257 22 20 55,000 7=
o5l AL2= |2019-06-04 (K|} 310kl 2 ated Zhets| 29 20,000 7=
o5l AL2= |2019-06-05|XIf 3okl 2 ated Zhets| oy 160,000 Ft=
o8| AF2 = [2019-06-10|% LR A K} 2+EH3| 69 23,000 7=
o8| AL2= |2019-06-11|XIf 3okl 2 ated Ziets| 34 24,000 7=
o|E|AFRR |2019-06-13| 28| AHR 2 &2l IR 57 Z e 5% 81,000 7t=
ﬂ‘i—ﬂ o8| ALR= |2019-06-18|2l 3| AlR= &9l R EF 22 7 96,000 7t=
n o8| ALR= |2019-06-18| X2 31kl 2 gl Zhcts| 109 198,000 Ft=
O|S|AFR = |2019-06-19 X s otd & 2t ZHets) 109 145,500 7t=
O|S|AFRE R |2019-06-19| I FF X AKX ZHE S 7H 34,000 7t
O|S|AFR S |2019-06-20(2l S| AMF= 22 AR FZ 25 109 153,000 7t=
O|S[AFR S |2019-06-20| K| 3ot 2 2t ZHEHS] 5% 76,000 7Ft=
o5 AbR= |2019-06-21 (X2} 310kl 2 aked 7hcts| oy 124,000 7=
o5l AL = [2019-06-22|% P& BAH K} 2HEts| 8g 32,000 7=
o5l AL = [2019-06-25|% P& BAH K 2+Ets| 6% 25,000 7=
o5l Ak = [2019-06-27 |9 P&l BAH K} 2HEts| 79 29,500 7=
o5l AL2= |2019-06-28|XI2f 3okl 2 ated Zhcts| 5% 65,000 7=
O|S|AFR S |2019-06-28 XY s otd & £t ZHets| 159 301,000 7ZI=
o|3[ALR = |12019-06-05(2l2] 2Y s ot ot =25 2|5t ZHE 3| 109 174,000 7t=
o8| AL |2019-06-07 X} 3okl 2 ated Zhets| 34 40,000 7=
o[ AFRRE |2019-06-07|218] 2 siotA|ot =0/ 2 9|5t 7}Et 5| 79 108,000 Ft=
o5 AL |2019-06-19| X2} 310kl 2 ahed Zhcts| 29 6,000 Ft=
o3| AL |2019-06-19| X2} 310kl 2 ahed 7hcts| 39 69,800 7=
o3| AL |2019-06-24 X2} 3okl 2 ahed Zhets| 39 33,000 7=
o5 AL2= |2019-06-25|X|f 3okl 2 ated Zhets| 49 70,000 7=
o5l AL2= |2019-06-25| X} 3okl 2 ated Zhets| 7 67,500 7=
o5l AL2Z |2019-06-26|2 3| ALR=2 &2l 257 22 19 249,000 7t=
o5l AL22 |2019-06-26|XIf 3okl 2 ahed Zhets| 39 32,000 7=
o8| ALR= |2019-06-27 X oiokel e el Zhcts| 104 66,700 =
o8| ALR R |2019-06-27 (23] 2 slokA|ot i=0o| S 2|3 7hets| 159 293,000 7t
o8| ALR= |2019-06-28| X2 310kl e ad Zhcts| 149 266,000 7t
o|S[AFR = |2019-06-28| XY s ot T 2t 7HEHs] 10H 35,400 7t
o8| ALR= |2019-06-03| X o1 okALEH 7HES] 109 185,000 7t=
O|S|AFR S |2019-06-17 X & ohAtEr ZHE 3] 9y 69,000 =
o5l AbR= |2019-06-18|2l =] 31 okAlEt 7HEtS] oy 18,000 7t
o|5|AbR= |2019-06-19| X2 51 okAlst 7HEtS] 69 62,000 7t=
o5l AbR= |2019-06-20|2l 2| 31 okAbEt 7HEtS] 29 12,000| 7t=
o3| AbR2= |2019-06-21|XI2f 51 okAbst 7Hets] 5% 128,000 7Ft=
o3| AL |2019-06-24| K| 51 okAbEt 7hets] 109 184,000 7t=
o3| ALR2= |2019-06-25| X1 31 okAbst 7Hets] oy 180,000 7FtE=
o5l AL |2019-06-26|2I3] 31 okAtEt 7Hets] 5% 45,000 7=
o|s|AL2= |2019-06-27| Xl 31 okAbst 7hets] 34 45,000 7=
o5l Ak |2019-06-28| X2 51 okAlEH 7HEtS] 49 70,000[ Ft=
o3| AL |2019-06-04|Z AHAIAF ZHE 7HEtS] 49 39,500 Ft=
o3| AL = |2019-06-07|FZ ol Akt AlA} 2 Zhets]| 79 140,000 Ft=
o3| AL |2019-06-10| 20l Akok AlA} BHE 7ets] 79 144,000 7t=




O|S|AFE= |2019-06-10|F Aol abok AlAL 242 ZHets 19,200
o3| ALR = [2019-06-10(FAof &t AAL Bt 7HErS 83,000
O|B|ALRE R |2019-06-11|FZ 0l Atok AAL 2 ZHEtS 198,000
o SIAFR R [2019-06-19|Z&F X FZof Aboh Bed 7iets] 98,000
2|3 AFRE 2 |2019-06-20(|Z A & FZof Atk 2t ZHE 128,000
O|Z[ALR S |2019-06-05|H M SX| {3 od&s 2t 52,000
o3| ALR = [2019-06-07 (B M =X 23| 2|y ets 2 7 24,000
o|3|AFR= |2019-06-07 X Satmtet 2 o okAlat 190,000
o|E| AR |2019-06-11 X Setuiet o 2|el5| 3 211,000
O|S[AIR T |2019-06-14|A M SX| A3 o ¥ &z e 28,400
9|3 ALRE = |2019-06-18 X S& et I ol okAtet 2t 130,000
O|Z[ALR = |12019-06-19|HH SX| 42| HYALZZ 85,000
O|Z[ALR S |12019-06-25 (A SX[ A3 HAMAL & 40,900
O|S[AFR S |2019-06-27 A SX| {3 HAMAL I 14,400
ol B[ AR |2019-06-28 | M =X| 9 3| o1 oAbe 2 109,500
o|B|AFRE 2 |2019-06-03| X124 & of mpot had ZHets| 245,000
o|B|AFRE = |2019-06-04 X124 & of mpot had ZHers| 163,000
O|3|AFE2 |2019-06-10|X1 Sk mjot 2tad 7he s 162,000
O|S[AFR = |12019-06-13| X & oF mot ated ZHEts 74,000
O|3|AFR2 |2019-06-17| X1 S¢ak mjot ztad 7hes| 115,000
O|Z[AFR S |12019-06-18 X S & mtet ot 7S] 27,000
O|S[AFR = |12019-06-21 X2} & oF met ot ZHES 140,000
O|S[ALR S |12019-06-24 X[ & oF ot ot 7S] 12,300
ol B AR |2019-06-25|% Sak mpot ahad ZHer 3| 18,900
o|B|AFRE = |2019-06-26|X124 & of mpot ahad ZHeHs| 167,000
ol 3| AR |2019-06-27 A1 &t mpot zhad ZHers| 108,000
2|3 AFRE= |2019-06-28 (X1 & of mpot ahad ZHers| 16,000
O|S[ALR = |12019-06-28 XY S&F et ot ZHES 48,600
o|B| AR |2019-06-01 (2 XS 22 2HE S| 217,000
o|3|AFEZ |2019-06-03|* 2663 A1k} M3 of & 95,250
O|3|AFEZ |2019-06-03|* 2663 M1 X} Hai 5] A4 151,000
O|S[AFR S |2019-06-03 |0l LA LS E L /3| S4 274,000
O|S|AFRE R [2019-06-04|F&54A! 2HEE FUUS) 331,950
OIS AFR R [2019-06-04|F&4A! 2HEE FAUBBS) 30,000
o|5|AFREZ |2019-06-04 X 2663] M1kt Ml 3| of & 94,000
o| 5| AFRZ |2019-06-04 XM 2663] M1kt M2l 3| A4 198,000
O3 ALE = [2019-06-04 |0l A2 M EH 2| 25| S4 200,000
O|3|AFEZ |2019-06-05|* 2663 A 1xt Ha 5 of & 73,000
o|3|AFE2 |2019-06-05|*2663| A1k Ha 5 of & 63,400
9|3 AFRE = |2019-06-05 [0 A MEH | 25| T4 178,000
o|B|ALR = |2019-06-07|R&54 SHEE FA(43) 50,000
o|B|ALRE R |2019-06-07|R&54 SHEE TA43) 9,990
O|S[AFRE S |2019-06-07 | AHAASE L /3| S4 365,000
O|S[AFR S |2019-06-10 |l AHA A SE L /3| S4 184,000
o|B|ALE 2 |2019-06-11|H2663] M1kt M2l 3| o 2SS 93,600
O|B| AR |2019-06-11 0 AZAMSH 5| T4 424,000
O|S[AFR S |2019-06-11 |l AHA LS E | A5 M4 105,000
O|3|AFEZ |2019-06-12|* 2663 A1k} Hai 3 of & 112,000
OIS AFREZ |2019-06-12|H2663] M1kt M2l 3| A4 301,000
ols| AR = [2019-06-12|H 2663 M1At M 5| of 2 5 115,800
o3| AMR = [2019-06-12|0i A2 M EH | 25| S4 272,000
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O|B|AFE R [2019-06-13|F&4A 2HE=E FUBGE) 380,600
O|S|AFE = [2019-06-13|H2663| M 1At M 5| - AT ZAL ZHA] 86,400
o3| AFE= [2019-06-13|A[2665] A 1A+ M= #HSX| @I YE 2o &Aolel 5§ 4 &H| 130,000
O|3|AFE = [2019-06-13|H266%] A 1At Hai 2| HH =X @I {3| 2|0 &HAMolal ZH 3| 67,600
o5 AMR = [2019-06-13 (2662 M1 A& el 5] & ALFEZAL M1 LR} 52 EHA o 4] ZHH| 457,000
o3| AHE = [2019-06-14|H2663] M 1A+ M2 H K| @IYE 2o &Aolel 5 4 &H| 198,000
OIS/ AFRE = [2019-06-14|H2665] M1AtE | 3| HHALF LA M2}t 3]0 &AM o2l T4 AH| 422,000
O|S[ALRZ |12019-06-17|H 2665 M 1XF Maf 5| A4 221,000
o3| AHF = [2019-06-17|H2665] M 1A+ M5 AH X2 YE] 5|2 &Aolel S 4 &H| 65,000
o3| AHF = [2019-06-17|H2665] M1AtE | 3| AT LA MBLX}; 2|0 &AM 0|2l 4 At 339,000
O|S|AFR = |2019-06-17|XI2662] M 1At 2|5 b HALFZIAL ML AL 5|of &AM o @l ZHEs| ZH| 41,000
o|3|AFR = |2019-06-18|X2662] M1t Mol s HH X5 52 &AolY S A Al 459,700
O|3|AFES [2019-06-18|H266%] M1AtE 2| 2| HHALRZZAL M4} 2|0 &AM of 2l T4 4| 391,000
O|S|AHR = |2019-06-18|H2663] M1 At 2| 5] HHALFZAL 4L AL 3]0 FA o @l 2HEs| ZH| 23,500
O|3|AFE= [2019-06-19|M266%] M1t M 2| & - AR ZEAL ZHA] 80,200
O|S|AFR = |2019-06-19|H2663] M1t He2l| 5| HH S 3| 512 &AMl S 4 A4l 254,000
O|S|AFE= [2019-06-19|H266%] M1AtE e 2| HH AL ZAL 5L} 2|0 &AM of 2l T4 AH| 203,000
O|3|AFE = [2019-06-19|H[266%] M 1AtE 2 2| HH AR ZAL MISUR}F 2|0 FHA o2l ZHErE| ZHH| 34,000
OIS|AFE R [2019-06-20|F&4 2H=E 7UGE) =27 30,000
O|S|AFE = [2019-06-20| 754 2H=E 7U6S) =EZ7T¢ 334,840
o3| AFR = [2019-06-20|M266%| M 1At A 5| & H AT ZAL ZH4 24 94,500
o3| AHRE= [2019-06-20|H2663] A 1A+ Mz X eI YE 2o &Aolel 5 4 &H| 129 156,000
o3| AHF= [2019-06-20|H2665| M 1AtE 2| 3| HH AT AL MELRE 2|0 &AM o2l T4 AH| H 190,000
ol AMR = [2019-06-21 (M 2662 M1l &oi| 5] 8 HALFZAL Z2HA Al 126,000
o3| AHT = [2019-06-21|A[2663] M 1A+ M5 A H =X @I YE] 5|2 &Aolel S 4 &H| 4 200,000
O|S|AFR = |2019-06-21|X2662] M 1At 2l 5 HHALTZIAL M7 AE 5|2 EHAM o7l 4 Ad| 413,000
o|3|AFFE= [2019-06-24|M2665] M1t M 5| M2xt 2352 F4! 288,000
o3| AR = [2019-06-25|F &4 RYEE 7(63) 50,000
o3| AMR = [2019-06-25|H 2662 M1t & 5| M 3xt 23]2] 4 416,000
O|B|AFE R [2019-06-26|F&4 2H=E FUMUS) 89,000
O|S|AFR = |2019-06-26|H2663] M1t Hel| 5| HH X3 512 &Ao|Y S A AH| 298,000
o3| AFE= [2019-06-26|AI2665] A 1A+ M2 5| #H =X 9l {3| 5o FAol@l 5 2HEs| Zd| 34,200
oI5| AFE = [2019-06-26|AI266%] HM1AHE 2 2| ot M AL M1 LA} 5| of FhAf of Y A ZH| 226,000
o5 AMR = [2019-06-27 [M266=] M1k} Hai|5] A4 47,000
o3| AFE = [2019-06-27|HI2665] M 1At M2 W SX|2IYE 2o &Aolel 5§ 4 &H| 208,000
o5 ALR = [2019-06-27 M| 2662 M1 AR S| oA MAL M2 Xt 5|2 FA o2l 4] ZH| 452,000
o3| AFRE = [2019-06-27| 754 2H=E FoH(65) 30,000
o3| AFE = [2019-06-28|H266%] M1t M 2| M4xt 2352 F4! 352,000




